111BFER2BHRERBERYEEERRE

BFE | B4 %32 D% i3]l FR $ERl
111 2 O 2.2 Bl ZE Ik 2 REE
111 2 OB 2.2 XEREE 1 HEEA
111 2 2O 2.2 ek 2 1SRG
111 2 501 2.5 XEREE 1 1SS
111 2 FO O OEE BEFZ 2.8 =Y 3 1SRG
111 2 =01 5.6 Pa] == e 4 HSEA S
111 2 O 5.6 Pa] = i 3 1SRG
111 2 HO= 5.8 XEREE 4 HEEA
111 2 FBOR 6.4 Pa] £ i 2 HEEAS
111 2 O 9.6 BEE & 2 HSEAS
111 2 O OF 9.8 Pa] £ i 1 1S
111 2 OB 10.9 ey iE 3 HSEAS
111 2 KE O %2 13.2 PEE & 1 1S
111 2 FOB 13.5 BEE & 1 HSEAS
111 2 A0 15.6 ZR & 3 HEEAS
111 2 Z0H 16.3 ek 3 HSEAS
111 2 B3O 22 ek 1 h{EUNBNEE
111 2 =07 37.8 Ba] == e 1 PR ENEE
111 2 =0% 58.3 | AEBEK 1 h{EUNBNEE
111 2 B O#f 60.6 BRIk 2 PR ENEE
111 2 BOORA 404 PEE & 2 BUWENEE
111 2 MOEF 64.7 S 2 RWEES
111 2 HHOER 69.8 | AEEK 4 BUWENEE
111 2 20# 878 | HHER 4 BB <5
111 2 EJQ]- 17 Pa] = i 4 geEs
111 2 HO /D 24.2 BEEL 2 BhEe
111 2 jeyc 244 | XEEK 3 pES
111 2 MO 27.9 o] 3= 1 2 BhEe
111 2 B O 43 37.1 Bk 3 pES
111 2 Z0 375 =ik 3 phEg
111 2 MO E 37.8 Pa] = i 4 pES
111 2 R O &) 383 EEiE 4 phEg
111 2 =088 38.8 = 3 pES
111 2 RO 39.5 EEic 1 phEg
111 2 SEOOHT 47.2 PEE & 3 phEs
111 2 5004 524 ZR & 2 phEg
111 2 BBOZ 52.4 Pa] 3 i 4 phEe
111 2 KO 52.9 PEE & 2 phEg
111 2 FOR 58.1 =Y 4 phEs
111 2 BOE 59 PEE & 2 phEg
111 2 KO 64.8 Pa] 3 i 4 phEs
111 2 FO=E 63.9 EEic 3 phEg
111 2 R OUE 66.7 PEE A 2 phEs

MOE 66.7 IEESiZE 4 BhE&
111 2 A0 74.5 21iE3 2 phEs
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